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When the growth factor is positive » (O V< wWGe f N 0"(&

Date:
Parent Function:
y = |x|
2. f(x)=|x|-3 3. f(x)=|x] +2
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5. f(x) =-|x| +4
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When the growth factor is negative 2 ___

When you add a number to the output 2

When you subtract a number from the output = S\/\‘H ﬁ E ! gf: )_g Q V‘\
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Make an observation about what happens to the graph when you have a positive sign in front of the function.
What about a negative

A

Make an observation about what happens to the graph when you add a number outside the grouping symbols.
What about when you subtract?
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Craph the following absolute value equation:s.
8. f(x) = —2]3(-—1[ ( ‘/(ﬂ 9. f(x)= 3IX+ 3
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10.  f(x) =-1/3|x - 2| 1. f(x) =4|x+ 4] 12. f(x) = -1/2|x - 2|
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Make an observation about what happens to the graph when you add a number inside the absolute
value signs. What about when you subtract?

When you add a number to the input - \f{\ '}'S |

When you subtract a number from input <> \’ﬂ [ ( A YL,

Make an observation about what happens to the graph when the number before the absolute value
sign gets larger? What if it gets smaller?

As the number approaches zero->
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Let's put it all togetherl Graph the following. State the domain and range of each.

13, f(x) = 3|x | -1
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16, f(x) = [x+2| -1
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19. f(x) =1/2|x-2| -4
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22. f(x) = -1/4|x - 3] + 3
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14,  f(x) = -2|x +3] 15.  f(x) = -1/2|x| + 4
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b: Xet&

R: Y43
20. f(x) =-2/3|x | +5 2 f(x) = 1/3|x - 2]
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23. f(x) = 4|x+3|+5 24.

AN .JEEEEEEN
NPT
JAL [ d ]
SVEREn

+

RER
JE TR
ANEB\EREE
SEEVEREE
e

BRNEE
REYVARELSEN

)

7
4\
9
=
‘N
U




Page 4 of 6

Write the functions of the following graphs. (Hint: first, write the vertex & slope)

25. W= [)cl 26. (j-:.ﬂ?,(xﬂ[f"l i Y= 2!?“““[“5-
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28. W= '-2—_\ )C\‘f"}

EEEEPUNEEN T
EREEN s NEREE ’ |
HERV.AANEEE
TN =
ERLARERNE 71
Illllla‘ L N
D4EREREEN HE
V:AEEEREER 1
'ANEEEBREEEA HERE
HEEEREEE BE
31. Write the equation of an absolute value graph that has:
"l o |
a) a vertex at (-1, 3) and contains the point (-3, 7) ' )
3= alx+idr3 4= on|-2] \5:2[x+l[¢3
s al-3+113 /) q=2a
-"3 -~ 3 ""","2"" 2, O-= 2.

b) a vertex at (1, -2) and contains the point (-5, —8)

%:a\)ﬁ"‘lsl‘“z ~b = bo
~g=al-5-\|-2 "¢ o [ (ﬁt—[ﬁ(—-ll-—?_
2 A2
~b=al-el

¢c) a vertex at (1, 29) and contains (19, 82)
Y= alx-1{r29
g2=alla-1] +29
52 = alis]
a= 53

g




Analyzing the Graphs of an Absolute Value Function
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e.  What is/are the x—intercept(s)?
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What is the equation of this function?

i 15: 2|x=1]-Y4 Z

‘ b. Domain? Range?
L. | x| (y2-4)
"'II C. Axis of symmetry: y — l

e

~t d. Maximum @lue? \ % o L\‘

'—__________-3

What is the y—intercept? ]m
g. f(52.43) =@ - S @

alx~-1]-4 = ~H

2{x~1] H=-6
2l¥~-1l=-2
= 2
k. f(x) =

L)C-l):*‘ 7

n. f(x) < 4
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Complete by writing the equation of the transformed function: —> Ly \ (¥ -3) \4\' -

f(x)-2|x+3{-—-5 -

f(x) =3|x-2|-2 -

f(x) = Va|x| - 4 —

=200+ 4 [-3] - 10

g(x) = ~3f(x) W
3 [ ) z

g(x) = -If(x +4 )+ 3 =

Y3
f(x) = |x| + 3 o gx) =f(x~-3)-5= \ [)Q_'S l....l
/________,__"
f(x) = |x] - 2f(x) -4 = \ . ) l)( l..-\-‘ ’
f(x) = x - —f(x - 2) = l _!WC 2‘) ,, 5’
5),{%-0 ..
f(x) = 2x - 4 > f+6=| 2(—x)t+ 2
I
If f(x) = —=|x — 5|, write the equation of and sketch k(x) = —f(x)
( 485 T %—92

()= 2| x+3]

> equation of and sketch g(x) = 2f(x) — 4

-1

If f(x) =4|x —5|+1, write the equation of and sketch h(x) = —= f (x+1) v
- ~ul-1
M= 2| x-u4{~% J\

f(x) =2|x+2[-3 —

2|-x+2|-3
""('F-ZD =3

f(x) = V2 |x+1|+4 "

~3 |erl |-

iy | I

reflect over y axis, shift 3 units left, 5 units up
\ 4 (= 2[<x+l |+ 2 T%’ _

reflect over x axis, shift 6 units right, 2 unit up

909> }|x-s (-2




